ESPRESSIONI ARITMETICHE
CON OPERATORE MANCANTE

Trova ed inserisci |'operatore (+, -, X,+~) mancante ad ogni espressione aritmetica.

1 51|:|7><5+11=97 ) 24 = 2 4|:|6 11 = 47

3) 72|:|2+6><4:60 4) 31E|10+5:29

5) 6+42+2|:|15=12 6) 25|:|2—42+6+18:61
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ESPRESSIONI ARITMETICHE
CON OPERATORE MANCANTE

Trova ed inserisci |'operatore (+, -, X,+~) mancante ad ogni espressione aritmetica.

5) 4><6E12+32+4:30 6) 13|:|9—4><3:10

7) 15+7|:|3—11:25 8) 32|:|4><7—12+24:68

9) 8|:|96+2=56 10) 19—4+2E|3=21
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ESPRESSIONI ARITMETICHE
CON OPERATORE MANCANTE

Trova ed inserisci |'operatore (+, -, X,+~) mancante ad ogni espressione aritmetica.

) 31+ 6-2] [7=23 2) 42| [6-3=4

3) 4+32+4><3D7:21 4) 81+3|:|4><5:47

7) 63+3|:|11><3+2:56 8) 90+2D4:49

9) 25+11><3|:|18=40 10) 18+7|:|4+2=32
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ESPRESSIONI ARITMETICHE
CON OPERATORE MANCANTE

Trova ed inserisci |'operatore (+, -, X,+~) mancante ad ogni espressione aritmetica.

1) 5><(26|:|13)=65 2) (7+41)|:|2—15=9

3) 7+48|:|(18—16):31 4) 36+3|:|(10><3)—18:24

5) (94—16)+3+2|:|6=38 6) (5[]17)+11:2

7) 18+(6—2)|:|2:26 3) 76+(23—21)|:|(2+9):27

9) 48|:|(14— 12) = 24 10) (82+2)><3|:|17= 106
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ESPRESSIONI ARITMETICHE
CON OPERATORE MANCANTE

Trova ed inserisci |'operatore (+, -, X,+~) mancante ad ogni espressione aritmetica.

1) (18+12)|:|27+3=21 2) (12+7)|:|2:38

3) 1 x5-72] [18)+5=37 49) 40| |4x2-2=3

5) 78] |7 +9) =75 6) (12+8)| [3+4+1 =16
7) (39-13)| |2x5-45=20 8) (18 +10) [2x3=22

9) 8+ (7x9[ [12=59 10) (11 x6)| [14=80
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ESPRESSIONI ARITMETICHE
CON OPERATORE MANCANTE

Trova ed inserisci |'operatore (+, -, X,+~) mancante ad ogni espressione aritmetica.

1) (18|:|3)—21=33 J) 38 (9><6)|:]3=56

3) 24x(15+3)[ |2x17 =154 4) 806 [4)=8

5) (10 +5) x 3| |25=20 6) 48| |4+8x2=8

7) (7] |6)x2=86 8) 49+7+4| |(87 - 65 =95
9) (55+32)| [12x4+17=56 100 52| |9 - (10 x 3) = 31
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